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QUESTION 1

enter 32*32 Image with size 5*5 The step size of the convolution kernel is 1 Convolution calculation, output image Size
is:

A. 28*23
B. 28*28
C. 29*29
D. 23*23

Correct Answer: B

QUESTION 2

When the voice recognition service is successfully called, which field is the recognition result stored in?
A. result

B. content

C. data

D. text

Correct Answer: A

QUESTION 3

Artificial intelligence at this stage is still in the weak artificial intelligence stage.
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 4
What people say about neural networks is wrong?

A. As the number of hidden layers of the neural network increases, the classification ability of the model gradually
weakens

B. The limitation of a single-layer perceptron is that it cannot solve the XOR problem

C. The feedforward neural network can be represented by a directed acyclic graph
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D. There is no connection between neurons in the same layer of the feedforward neural network

Correct Answer: A

QUESTION 5

What are the characteristics of Python code? (Multiple Choice) A. leglbillty
B. Simpllclty

C. Rapidity

D. Scalablhty

Correct Answer. ABD
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